Advanced Geometry
Summer Packet
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This packet should be completed for the first day of school. All work should be
done in pencil and final answers should be clearly stated. Please use scrap paper if
necessary.

The purpose of this packet is to help you review and reinforce concepts/topics
that are necessary for Geometry. This packet has been designed to provide a
review of algebra 1 skills that are essential for student success in advanced
geometry. If you are unsure of any topic, please see your geometry teacher within
the first week of school for extra help.
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Solve each equation.

1. —x—9=x+3

2. Tr—4+2r=12+7r

3. —5—-4(n+3)=-19-3n

4. -3(3-k)=3(k+3)

Solve for the indicated variable.

5. d=rt forr

6. ax+bv+c=0 fory

- e+
7. A= f fore

g 3k+Tn=p sor F

Solve the following equations.

9. %Gn + 1) :%

1. 2(=Ik+1)-Fh=-3
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Simplify the following using exponent rules.

1. vi.72v? .5y 2. (3x%y)? 3. (—2a°bc®)’ - —5ab’
a. (—2Y4} A {X\/j )2 _13X2y10 . aﬁb?CZ a (_3)(6 )2
a’b*c? 5x? . 3x?
2 8 121,-3
: (4><“v”| 8. =
| 6xy | 27n (ab)

Simplify the following polynomials.

1. (5+2% +x—3x1} +(ax +11-6x+ ?’xz}

2. (2 +3x+2)— (X’ —4x—1)

3. 3a’b’(2a’ - 7ab + b?)

4. (x +4)(x+9)

5. (2a + 5b)(a - 3b)

6. (x+ 8)(x—8)

7. (2y = 1)’

18a°b +12a’b” —6ab
’ 6ab

—24x" +48x> —8x’

9
8x>




Solve the following inequalities and graph your solution on the number line.

1. 11x+13 = —-20

o

% 6 -4 -2 0 2 4 6 8

2. —2x4+6>3x—34

3.3x—7(x+3)=—13

- -6 -4 -2 0 4 6 8

4.4—8x < 2(5 —3x)

-3 6 -4 =2 0 2 4 6 §

S5.x+7<2o0rx+5=23

6. 3x+5<—16 or-5x—8 < —13

7. 2<3x—2<10

8.3<2x+1<13




State the domain and range of each then determine whether it is a function.

D=

Function?

1. 2. 3. X
» 2
4 <_____—t—.—
x|-1]12]|5]|-1 . 6 _dig...—1
y|7]|3|0] 2 1 7 — S
D= D= D=
R= R= R=
Function? Function? Function?
4. Y y
’-"

D=

R=

Function?

Evaluate each function.

1 If f(x) = —x— 7, find f(5)

2.1f f(x) = x* — 2x + 11, find f(—2)

3. If f(x) = 2x% —x, find f(—4) — f(9)

aff(x) = §x + 1, find f(—6)




Find the slope of the line.

Find the slope of the line that contains each pair of

points.

5. (3.10) and (2.5)

6. (12.-2) and (0.6)

Find the slope of the line described by each equation.

7. Sx+4y=40

8. Tx+42=2y


























‘Write each equation in slope-intercept form. Then gr
¥

aph the line described by the equation.

9 V+x=3

pry -

10. 5x - 2y=10 _ '

Write an equation in point-slope form for the line with the given slope that contains the given point.

11. slope =4: (5. 6)

12. slope =-3: (7. -2)

Graph the line described by each equation.
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14. y+4=—-

[9%)

(-4)

-10-8 -6 -4 -2 Q

$.i4 & 8 10
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Solve each system by graphing.

y=2x+3
15. y=—x+9
¥

Solution:

6§ -5 -4 -3 -F -1 1 2 3 4 5 &

I e e -]

Solution:






















Solve each system by substitution.

1 y=3x+4 2 —2x+2v=4
T ly=4x+5 4x+3y=-15

Solve each system by elimination.

x+6y=-8 4. ) 9x+06y=12
8. \7x+3y=24 " l-18x—8y=—4

Set up and solve a system of equations to answer the following.

5. . The cost of 12 oranges and 7 apples is $5.36. | 6. . A collection of dimes and nickels is worth
Eight oranges and 5 apples cost $3.68. Find $3.30. If there are 42 coins in all, how many
the cost of one orange. dimes are there?




















Factor each polynomial. (GCF)

1. 1268 -5¢ 2. 6x*—18x+6

Factor each polynomial.

3. x?+11x+28 4, X' -8x+7

5. X —2x-24 6. x +4x—21

7. 2x*+13x—7 8.. 3x%+ 14x + 15
9. 4x?-8x-5 10. 9x* — 64

Solve each quadratic equation by factoring. Check your answer.

11. X2 +2x—=15=0 12. x2—5x—6=0
































Solve each quadratic by factoring. Check your answer.
13. 5x2 —8x+3=0

14. x> +4x+17 =8 —2x

Solve using the Quadratic Formula.

15. > +7x—6=0 16. 232 —x—11=0

17. 2x%>+5x+4=0

18. x> —4x + 4 = 2x

Solve the following quadratic equation word problems.
19. The dimensions of a rectangle can be given by | 20.. When Joey dives off a diving board, the
x+7 and x+2. If the area of the rectangle is 66 equation of his pathway can be modeled by
square inches, what are the dimensions of

h = —16t? + 15t + 12. Find Joey’s
the rectangle? maximum height.
























Write each as a simplified radical.

1. V24 2. V162 3. V80 4. V112

Find each sum or difference. Make sure you simplify first.

396276 1047 + 2463 2/32-3/18 428 + 4112

Find each product. Be sure to leave as a simplified radical.

J8-32 5J10 7412 4414248 -24/3(3410-3V6)




